







































































































Exam II Review solutions

1 V F is a scalar

010 E is a vector

Ox PXE is a vector

f x E is a vector

i E of is nonsense

f I is a scalar and the dot product

is an operation defined between
two

vectors
full D is vertically simple2 xdA
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f yrdydx Can't integrate in the given order

x 5 Sketch and then reinterpret the

region as horizontally simple
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As a radiallysimple
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8 2 X y and 2 8 I 5 Note x ya 8 x2 ya

A The curve for intersection
2 y2 8 ye

2 2 25 8 2µ
Ez
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8 2ya
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g z

b Note X ty r and 8 2 y 8 r

is izaor rt z
2 r

9 z
2 y projection of the core into the yz plane
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Region is symmetric about the z axis so o 0 25

and IEEE 3
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2 Tf is a vector

PF is nonsense 0 acts on a Scalar toproduce a vector

Txt is a vector

PXE is nonsense D acts on a Scalar toproduce a vector but

PXE is a vector

The divergence operator acts on vectorfields
f f is nonsense my
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order of
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felxtylds where C is the straight line segment from

a 1,2 to 14,6
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20 E fx y Z Note Txt 3 so E is conservative so
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23 J F df is a vector line integral

v E di is nonsense since P F is a scalar

ftp.E ds is a scalar line integral

f PXE dir is a vector line integrals
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